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QUESTION 1

Chemistry students performed nine volume measurements of a solution during a lab and obtained the
following results:

{2.4mL, 3.2mL, 3.7mL, 3.7mL, 4.5mL, 6.8mL, 7.3mL, 8.1mL, 12.2mL}

What is the mode of the data set?

A.3.7mL

B. 4.5mL

C.5.8mL

D. 9.8mL

Correct Answer: A

The mode is the measurement that is the most frequent or common value in the data set. In this example, the mode is
3.7mL, because it occurs twice, more than any of the other measurements that occur only once.

QUESTION 2

What is the solution of the inequality 3x9>12x?

1
A. .1':}—_’ B. 1‘*-‘:—1 C. x>2 D x<2

A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: C
To solve the inequality 3x 9 > 1 2x, you need to collect like terms ofxon one side of the inequality and all other values to
the other side. You first add 9 to both sides of the inequality:
Ix—949>1—-2x+9

3x>10-2x.

You then add 2xto both sides of the inequality:
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Ix+2x>10-2x+2x

Sx=10.

Dividing both sides by 5 yieldsx> 2.

QUESTION 3

What is the slope of a line described by 3x + 2y 12 = 0?

A. 3/2B.-3/2

C.2/3

D.-2/3

Correct Answer: B

The slope can be identified by adapting the equation to the formal equation of a line or y=mx+bor

2u+3x-12=0

2y=-3x+12

2y —3x 12
_— _I__
2 2 2
y=——x+6
2
QUESTION 4

Solve for x: 10 + 5x2 = 135
A. £2

B. 5

C. 10

D. £25

Correct Answer: B

QUESTION 5

Latest PCAT-SECTION3 Dumps | PCAT-SECTION3 PDF Dumps | PCAT-SECTION3 Exam Questions 3/4


https://www.pass4itsure.com/pcat-section3.html
https://www.pass4itsure.com/pcat-section3.html
https://www.pass4itsure.com/pcat-section3.html

VCE & PDF https://www.pass4itsure.com/pcat-section3.html

2024 Latest passditsure PCAT-SECTION3 PDF and VCE dumps Download
PassditSure.com

What is the mean of the data set?

A. 55

B. 66

C.78

D. 82

Correct Answer: D
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